
X N (0, 1)
X R

fX(x) =
1√
2π
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φX(t) = E(eitX ) = e
−t2

2 .

φX(t) =
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∣∣∣∣
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∑
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φ(2k)
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m ∈ R σ > 0 Y
(m,σ2) N (m,σ2) (Y − m)/σ N (0, 1)

X N (0, 1) σX + m N (m,σ2)

E(Y ) = m, V ar(Y ) = σ2,

N (m,σ2) R

fY (x) =
1

σ
√

2π
e−

(x−m)2

2σ2 ,

N (m,σ2)

φY (t) = eitm−σ2t2

2 ,

Y ∼ N (m,σ2) c ∈ R Y + c N (m + c, σ2)
N (m,σ2) N (m′, σ′2)

N (m + m′, σ2 + σ′2)

Rn

n

X Rn X =
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
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X2

.

.
Xn




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.
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
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Σ

X
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=
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
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φZ(t) = E
(
ei〈t,AX+b〉

)

= ei〈t,b〉E
(
ei〈A∗t,X〉

)

= ei〈t,b〉φX(A∗t)

= ei〈t,b〉ei〈A∗t,m〉− 1
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X Nn(0, In) Nn(m,Σ)
Y = AX + m
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n X2
1 + . . . + X2

n
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XE1 ,XE2 , . . . ,XEp ‖XEi‖2 =∑ri
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